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QUESTION 1

Based on the crosstab displayed, the report author creates a singleton using the tuple function as follows:
tuple([Camping Equipment],[Revenue],[2006]). 

Which of the following will appear in the singleton when the report is run? 

A. Camping Equipment, 500,382,422.83, 2006 

B. 500,382,422.83 

C. Camping Equipment, Revenue, 2006 

D. Nothing, singletons are notdimensional objects. 

Correct Answer: B 

 

QUESTION 2

A report author uses an OLAP cube to create a crosstab with Revenue as a measure, the Product linelevel in the rows,
and the year members (2004-2007) in the columns. 

How can the report author efficiently determine the difference in revenue between the years 2005 and 2006? 

A. Determine MUNs for the years 2005 and 2006, and then create an expressionusing the MUNs. 

B. Create a new column as a query calculation, and create the expression [2006]-[2005]. 

C. Create a set of the 2005 and 2006 members and aggregate it. 

D. Ask the modeler to create a calculated category in Transformer and then use it directly. 

Correct Answer: B 

 

 

QUESTION 3

Which of the following are dimensional objects? 

A. Sets and query calculation 
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B. Query subject andrelationship cardinality 

C. Slicer and string function 

D. Level and member 

Correct Answer: B 

 

QUESTION 4

A report author creates the following nestedreport using 2 adjacent levels of the same hierachy. Users should be able to
drill down on the inner nesting with the outer nesting remaining unchanged. 

What advanced drilling behavior should the report author use to achieve this? 

A. Replace Expression 

B. Depth Based Expression 

C. Preserve 

D. Replace Item 

Correct Answer: C 

 

QUESTION 5

What kind of authoring style uses the filter function? 

A. Relational 

B. Conformed 

C. Dimensional 

D. DMR 

Correct Answer: C 
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